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a. Classify the following statements into Positive and Normative statements with reasons for
your classification. (5)
i. The government should emphasise more on poverty reduction than on economic
growth.
ii. People would prefer a policy that lowered the level of unemployment to one that
brought inflation down.
iii.  Higher taxes discourage work effort.
iv. A rapid growth rate of money is the cause of inflation.

v. Government should raise the tax on tobacco as to discourage people from smoking.



b. Kelen and Chris produce rice and wheat. In an hour, Kelen can produce 1 unit of wheat or
one unit of rice, while Chris can produce 2 units of wheat and 3 units of rice. They each
work 10 hours a day. (8.75)

I.  Who has an absolute advantage in producing wheat? Who has an absolute advantage
in producing rice? Explain.

ii. Who has comparative advantage in producing wheat? Who has Comparative
advantage in producing rice? Draw a production possibilities frontier for Kelen and
Chris assuming that each spends same number of hours each day as the other in
producing wheat and rice.

c. Calculate TFC, if AC and AVC are $22 and $18 respectively at output of 10 unit. (5)
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c. Ifg  AC 3R AVC 10 gfaie & 3i3eqe WX A $22 3R $18 ¢ d TFC &
IUTT FIfe| (5)

a. Calculate the price elasticity of demand using the mid-point Method from the following

information.

Price 20 30 40
Quantity 90 60 45

Would your result be different if instead you consider the total revenue approach to
calculate the price elasticity of demand? (5.75)

b. Show that a minimum wage set above the market clearing wage rate causes excess supply
of labour. Why would a government impose minimum wage despite knowing its effect on
unemployment? (6)

c. What is effect on producer surplus if taste changes in favor of organic food. Explain it

diagrammatically. Will it affect producer surplus in the market for organic food? (7)
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Quantity 90 60 45
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b. CESY foh IR AN HGY & q IW GeIdH Holgdl 9 HH Hr
HTARSFT 3MYfd T FROT Tl g1 TR W SHF JHE H SAlelel & STaolg
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During the Covid-19 pandemic, the Ayurvedic medicines have an inelastic demand and

electronic devices have an elastic demand. Imagine that technological advancement

doubles the supply of both products (i.e. quantity supplied at each price is twice as it was

earlier)

i.  What will be the equilibrium price and quantity in each market?

ii.  Which product experiences a larger change in price and which product experiences

larger change in gquantity. (9)
Why? (4)

an example with graph. (5.75)
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Do you agree with this statement, MC curve crosses the ATC curve at its minimum?

How does an increase in interest rate affects household savings? Explain with the help of
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a. Suppose government imposes $2 tax on each liter of petrol purchased and all petrol
vehicle users require paying the same.
I.  Draw a demand and supply diagram of the market for petrol without the tax. Show the
price paid by consumers, price received by producers and the quantity of petrol sold.
What is the difference between price paid by consumers and received by producers?
ii.  Draw a demand and supply diagram of the market for the petrol with the tax. Show the
price paid by consumers and received by producers and the quantity of petrol sold.
What is the difference between the price paid by consumers and received by
producers? Has the quantity of petrol sold increased or decreased? (6, 6)
b. What is the Deadweight loss of taxation? How does the deadweight loss change with the

change in size of the tax? Give reasons. (6.75)
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a. “Government should regulate mergers between firms” Give reason in favor and against
this statement. (4.75)

b. Draw the diagram with demand and supply curves for an importing country. What is the
consumer surplus and producer surplus before trade is allowed? What will be the
consumer and producer surplus with free trade? Explain the change in total surplus. (7)

c. A company is considering constructing a Flyover bridge over the busiest road to avoid the
traffic. The bridge would cost $2 million to build. The following table shows the

company’s anticipated demand over the lifetime of the bridge:

Price per No. of Crossings
Crossing ($) in Thousand

8 0

7 100
6 200
5 300
4 400
3 500
2 600
1 700
0 800

i. If the company builds the flyover bridge, what would be its profit maximizing price?

Would that be the efficient output? Give reason.



ii. If the company is interested in maximizing profit, should it build the flyover bridge?
What would be its profit or loss? If the government were to build the bridge, what

price should it charge? (7)
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a. Draw a consumer budget constraint and indifference curves for Pepsi and Pizza. Find out
the optimal consumption choice when consumer has income of $2000 and the price of
Pepsi is $5 per bottle and the price of per pizza is $10.What is the marginal rate of

substitution at this optimum? (6)



b. Piyush spends his entire income between food grains and books (both of which are normal
goods) Pandemic causes a large increase in the prices of food grains in India.
I. Show the effect of Pandemic on Piyush’s budget constraint.
ii. Show the effect of Pandemic on Piyush’s optimal consumption bundle assuming that
substitution effect outweighs the income effect for books.
ili. Show the effect of Pandemic on Piyush’s optimal consumption bundle assuming that
income effect outweighs the substitution effect for books. (6)
C. Suppose that labor is the only input used by perfectly competitive firm. The firm’s
production function is as follows:
Days of Labour | 0 1 2 3 4 5 6 7
Output 0 7 13 | 19 | 25 | 28 | 29 | 29

i. Calculate the marginal product for each additional worker.
ii.  Each unit of output sells for $10. Calculate the value of the marginal product of each
worker.
iii. Compute the demand schedule and firms demand curve showing the number of

workers hired for all wages from 0 to $100 a day. (6.75)
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Days of Labour | 0 1 2 3 4 5 6 7
Output 0 7 13 | 19 | 25 | 28 | 29 | 29
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Students will attempt any THREE questions.

All questions carry equal marks. Answers to be written between 500-800 words

1. Inyour opinion, does Bilingualism strengthen attachment to a mother tongue and also
help in learning other languages more easily? Give your views.

2. Do you think popular culture has any impact on community practices? Answer with
reference to the depiction of women characters in any mainstream movie.

3. “He (the King) fell down in a swoon. His great queen shuddered in confusion and said,
there is no refuge for awoman who has lost her husband. That woman of soft words
touched her husband’ s feet and died.” Discuss the passage from Ilanko Atikal’s
Cilapattikaram a marker of duty, sacrifice and women’s obligation towards her husband.

4. Describe how The Palla Song articulates the reformist and resurgent spirit to free India
from political and social ills.

5. How doeslsmat Chugtai’s story, Touch-Me- Not, show socialist and egalitarian concerns,
as well as a concern about the status of women in india.

6. “The theory of reincarnation was invented in the civil courts so that neither plaintiff nor
defendant might die regretting that his case had been left unfinished.” Taking the cue from
the above statement, Shrilal Shukla depicts a satirical picture of debased Indian society in
post- independent Indiain the excerpt from Raag Darbari.
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Paper Unique Code: 12315110
B. A. (Hons.) - Semester | (GE)
Delhi Through the Ages: The Making of Its Early Modern History
March 2021

Instructions for Candidates

Time: 3 Hours Maximum Marks: 75
qHT: 3 HE qUH: 75
Answers may be written either in English or in Hindi; but the same medium should be used
throughout the paper.
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Students must attempt four questions. T AL I F I oAT FAHard %’I
All questions carry equal marks. adt W F 3w 9 %I

Examine the literary and archaeological sources available for the study of Indraprastha Or
How do the archaeological remains at Lal Kot and Qila Rai Pithora help us understand the
urban processes in Delhi?

SEUET h qAAA & o0 IUAsy ATglcAd ST [rdlicas &dl w1 T FHiog
JT de®le A foer o fOdr & quarkas @99 g awg & ot &

UEHLUT F GHAT H AT HEE FLd 82

. What were the factors that shaped the developments in the cityscape of Delhi in the 13"-14"
centuries?

13 & - 14 & oareat # oot &t TWR-IRgeT (ToAET) # TFE #w@ o I+
T FHILH FAT A2

. Analyze the role played by any one of the following in the development of the Sultanate
capital of Delhi: (a) Delhi-i-Kuhna’s Jami Masjid (b) Ghiyaspur-Kilokhri (c) Siri (d)
Tughlagabad (e) Jahanpanah (f) Ferozabad.

Foqdaa Hit el foeedt & Gwm # oz T uw & osqfaewr e
Fiow: (7)) fRer-u-ggar ST Attee (@) femE-tameda @) & @)

TAHEE () Saarg (%) fRsmEre|

In what ways did the city of Shahjahanabad represent the imperial ideas of the Mughals or
Discuss the significance of Diwan-i-Am of the Qila-i-Mubarak in Shahjahanabad.




ATESTEIATaTE gy o Tl & el & el A= &1 gfafHfee wzar g ar
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5. Revaluate the understanding of the “decline” of the Mughal Empire from the socio-cultural
perspectives of 18" century Delhi.

181 sraredt #T faee(t F AEIRH-OEhas FEH0 § WA TEST F Taq” @l
A FT qeATHT o0

6. Discuss the importance of the early modern period in the history of Delhi.

et 98T & TMag™ H 39 UTIHE A& I 6 Hged 9% A0 i)
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Name of the Paper : Basics of Journalism
Name of the Course : Generic Elective, B.A. Honours Journalism
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Semester : I
Duration : 3 Hours + 1 (one hour reserved for downloading of

question paper, scanning and uploading of answer sheets)
Maximum Marks : 75

Instructions for candidates
Attempt any three questions.
All questions carry equal marks.
Answers to be written in 750-1000 words

Set— A

1. What is the significance of attribution in making a news story credible?
Explain citing examples.

2. Sensationalism has become a common phenomenon in news reporting nowadays. Discuss
in detail the above statement with suitable examples.

3. What are the principles of clear writing? How are they relevant in journalistic writing?
Elaborate with examples.

4. What is the scope of citizen journalism in reporting issues that big media houses may
overlook? What is the role of social media platforms such as the Twitter and Facebook in
facilitating citizen journalism?

5. What are the challenges for media houses to stick to ethical practices today? Illustrate
how corporatization and politicization influence media content.

6. Write a news story for a newspaper on any ONE of the following, not exceeding 500
words:

(a) Vaccine to prevent COVID-19

(b) Farmers’ Protest
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Duration: 3 Hours Maximum Marks: 75
Attempt any four questions.
All questions carry equal marks.

1. What is Morality? Discuss according to James Rachel.

AT o 82 SR Yad & IR Td B |

2. Marriage has always been a different thing for men and women. Explain with reference to
Simone De Beauvoir.

fereTe AT Qo SR Higeail & Ty U 31erT o1 &1 8| R S Safer & e o
qarg|

3. If morality is conceived as impartial, can we be partial as parents? Explain.

gfe Afderar &) Fsae & U H HeuT o1 Wit 8, dl 91 g1 ATa1-fUdT 81 & SR uauTd
PR YD &7 WY HIoY|

4. Discuss Ambedkar’s view on Caste System.

STl STaRIT TR 3dSHR & faaR TR =i b |

5. Discuss Wellbeing Freedom and Agency Freedom with reference to Amartya Sen.

3 9 & g+ H SHeuTur grawt Taadn 3R fopar graht Wd=dr o 9= &1 |

6. Do affluent countries have moral obligation towards the starving people of other countries?
— Peter Singer.

T GO S H 37 <= b 4 N b Ufa Afaep i B2 - der R



What are the moral and political issues surrounding Pornography? Discuss.

HRIHT & Ted & Sy & Afaes SR Ieifdes e, o1 82 Taf 1|

Is a public figure entitled to privacy? Discuss according to David Archard.

T T TGS+ G [Tl BT THER 5?2 SIAS SR P SIHR Il Y|



OPEN BOOK EXAMINATION SCHEME 2020
B.A (PROGRAMME)
(PHYSICAL EDUCATION)

B.A. PROGRAMME Sem. | (CBCS) March- 2021
(SEMESTER SCHEME ADMISSION OF 2020)
SET - A

UNIQUE PAPER CODE: 12555101

NAME OF THE PAPER: (GE) YOGA AND STRESS MANAGEMENT:
B.A.(PROGRAMME) PHYSICAL EDUCATION.

Instruction for students:
a) Attempt any FOUR QUESTIONS. All questions carry equal marks.

b) The duration of question paper is of 4 hours duration out of which the student is provided
with 3 hours for answering the question paper and 1 hour is given for downloading the
question paper, scanning the answer sheet in PDF format and uploading the scanned PDF of

the answer sheet on the portal.

Q1. What do you understand by ‘Yoga’? Discuss the importance of Yoga in our life.
RT3 1Y T FHI 82 TR Sifa & I1T & Tgd R i dR |

Q2. Explain in detail Ashtanga Yoga and its importance in human life.

3FHT AT & IR HfGIR ¥ 9T 3R A4 Sifa- § 59 & Agd & aR J §ard|

Q3. What do you mean by Shatkarmas?Explain any two with their procedure and benefits.

YT HH I 3ATTDT T Ay g2 I7h! UfhaT 3R A4 & 1Y foddt +f 1 ot e 3|

Q4. What are Meditative Asanas? Explain their different meditative asana with procedure,
precaution and benefits.

ST 3 T 52 Uiehan, Tgfaard SiR a1y & 1Y faffiest earei3m@me & avier i)
Q5. Explain different relaxation techniques for Stress Management.

q1d Ueee & foru fafie fasma a@-ie! &1 gute &y

Q6. What is Stress? Explain in detail the cause and effect of stress on human being.

TTd T 22 ST R d-I1d & HRUT 3R YH & IR H foaR I 9am|
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Note: Answers may be written either in English or Hindi but the same medium should be followed
throughout the paper.
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Attempt Any Four questions.
All questions carry equal marks.

fpegl I wRaAT & 3T iU
Tl ueaT & 3k gAAT T

1. Examine the challenges of Good Governance in the changing paradigm of development
discourse.

farre @etll A & deord URYeT A FAHA & GHET oAl S alieTor
ffa|



. What is Green Governance? How the global environmental challenges are main concerns
of Green Governance? Explain.

g AT & & ? dRgeh GO YAlfaar g Jer gRa et &1 J&I
v §7 carear fifed |

. What do you understand by Democratic Decentralization? Discuss the functioning of
Local Government in India with reference to 73 and 74" Amendment Acts.

Ahaifas fAFERoT & 3T 1 AsTa & ? 739 3R 749 e faf@gst
& ool H HRT A TUET A8 H FF geufd H AT RS

It is said that Public Service Delivery is one of the most vital and notable aspect of Good
Governance. Justify your answer with suitable examples.

AT T el § & AdefAe qar AT U #T dd AEds e
3edl-g Uge] ¢l 3T 3egvl ganT 39l 3T i gite Hifov|

. What do you understand by e-Governance? Discuss briefly some important e-governance
initiatives taken in India.

SAHA @ Y FI1 AT §? HRA & TIU I $& Hgcaqul § AEA Feefr
3YhAr @I faadaar S|

. 'Citizen’s Charter and Right to Information Act 2005 strengthen democracy.' Do you
agree with this statement? Explain with examples.

FAEIReG TYONAT T FAAT 1 HhR IFRATGTH 2005 olhdd @l HArcT
AT 81" AT 31T 3T YT & TeAd g2 3aevl afigd caredr fifad|



SET A
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Unique Paper Code: 12115907
Name of the Paper: GE-PSY-01: General Psychology
Name of the Course: B.A.(H) Psychology, Generic Elective
Semester: |
Duration: 3 Hours

Maximum Marks: 75

Instructions for the Candidates

Note: Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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ICRIEIBICIHY

Attempt any 4 questions.
Ploi4 UHbITIRG o™ |
All questions carry equal marks.

gHiusisaaA3iPRs |

1. Why memory is important for us? Explain in detail the InformationProcessing model of

Memory with types of memory. (6, 12.75)
wqfa gAY forT a7 Agcaqel 82 WY % TR o 97 AT THEH0 Higd & ar §

faeqme & Fqr)



. Learning comes with experiences. Validate this statement with classical and operant

theory of conditioning using example. (18.75)

HrEAT Sqaat F qTT AT £ 3GIeR0l DI GGl Y HEHT F erniora srhwar

gt i fha Joa sraee faEia & 919 39 F29 il 777 F:7)

. Write in detail the psychodynamic perspective in understanding human personality.
Explain how humanistic theory is different from the psychodynamic theory of

personality. (11,7.75)
AT AAed T GHAT H AAGATAE ORI il foeqre & ford| aqre & Aeaararar

Rrgia =afxrea & AaTasTi=eT Frgid & 9 e 2

. Explain Piaget’s contribution in understanding the cognitive development of children.

What are the criticisms of Piaget’s theory? (18.75)
TG o GSATATAHS (AhTE I THAT § (AT 3 AT At AT Fe | foamer & frgia &
ATATAATE FT &2

. Development takes places in stages. Explain this with the help of Erik Erikson’s psycho-
social development theory and Kohlberg’s moral development theory. (9.75,9)

I TRUN § 811 81 vt ufweaw & qraTrmE-amaTer o Rgia of7 Fredat &

At fersre gt &t ag/@Ear 4 =6 a9l

Stress is inevitable in our life. Explain Hans Selye’s model of stress and different coping

mechanism of stress used in day to day life. (18.75)

ST S § 979 SURET 21 a9 F aF et ¥ Higd A7 a9 ¥ [oA-ufdiad &
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1. Answers should be written in Sanskrit or in Hindi or in English but the same medium
should be used throughout the paper.

2. There are total 6 questions in this question paper. Attempt any 4 questions. Each
question contains equal marks.

1. SgHTEpids® AT AT 92 e forfe

Write an essay on Multicultural Indian Society.

2. Ty Fvar % waTer ST |

Throw light on Sindhu Civilization.

3. H&q ATfgcd H THFIAT & T9=-foer garar ux fevqoft forfem |

Write a note on the various versions of Ramakatha in Sanskrit literature.

4. SAETT i A 6 AT I TEILRIT JUAaedT- IT A raqTena eoqutt forfam |
Write a critical note on the traditional caste system according to Vajrasici of Asvagosa.

5. ATFeFT T & ATLTE 9 &1 & qeair § ATeahTe T w3 & §99 q¥ feoquft forfem |

Write a note on the struggle of women to secure right to property on the basis of

Yajnavalkya smrti.

6. WETHTLT F THATIH o STLTT T TERTATT AT T 9T T THRTI STAT |

Throw light on the condition of the women on the basis of Sabha Parva of Mahabharata.
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Instructions for Candidates:

1. Write your Roll No. on the top immediately on receipt of this question paper.
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2. Answer any four questions.

fReal ToTT % I Qo)

3. Answer may be written either in English or in Hindi but the same medium should be
used throughout the paper.
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4. All questions carry equal marks.
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1. Examine the transformations in the concept of Indian village.
YR T B YR H URad &1 Sird B |

2. Elucidate the key events that have shaped the political history of India post-
independence.

wﬁg%m%wﬁﬁﬁmﬁmﬁmwwﬁﬁ
Y HR |

3. How do rituals and practices shape the process of socialization of girls in
Hindu society? Elucidate.

feg TrT o Aol & THTSIHRUN &1 Ufehal &l 6 ST 3R Jaraff
SRT 3MHR far oirar g2 =t B3

4. Discuss the construction of household among the Navayat community.

Jad Sged & el A R T e |

5. What are the various ways of thinking of a region? What are the problems
with the idea of regionalism?

forelt & & o & Wi & Al okl &9 4 82 &7aTe & AR St &
TR &2
6. The practice of religion is deeply embedded in social hierarchies of caste.
Comment.
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